V7
o
AT TR
ElHAD 0 510 30 50(m)
I s > L = 7 S #K 5 o
gﬁ@/{%/—/’—/’—’k‘ 5 e T EA b~ THRMKRE; Ly — 1
-2.2fy === = N v T -
\ - \\\\\
b Z z —
| ° : B T — SEETUFTUR
) 4 \ N A \\\
\ fa . f-z | IR AT W o HEoF
=l . R i Y - R=T5 (BRMHIER
| ; ‘\ X N N BE (TSI FRYERE)
| | RETIL . K — . B8 ~ %1 FR
r :f = 8000 000 6000 30
‘\ 2
\ AEIE
\ wafal ¥
\ " q¢ |2
A 2zl o e ¥
il
| cabmnEiEs
\ : s \
10onE |8 | . 11‘ \
\ | I
, :
I\ |t g i = b N N@Zk | EE 515 (564)
1 = */ ~_—-
\ : Lo \ \\74 hA L \“ |
W i < - . i
. ® - . A, 2 SN 1 \= _.
| =t Ny -2 N\ o0n ? S
s (" R : @Y = i N 3 R/ LA L
\ 2,008 = W \ . a 1 /
=E-= ~~_& —2_N ! . ! / /
s le e \I N 'T\’jL:i‘E (BB 1%
B < % N \ ~
l = . W~ ~ - .
\ 1 1) BEKREIVER—D 3 ViR - RTY VT EERE)
\ _ HRE~4R A
! ’ =
__/
=
= ==
________ Zif?r%ltz PSR = T
___________ Fra
(§)
I%HR () CH¢F§M%§¥{%I§
ISHEMm BEAMEERN
= . " s | A0 1500
2 |nEmgEenEnER| | 2 vm
i A3 1/1,400
#uERe | FH 3 E A | EEEE
EXﬁfﬁﬁiﬁﬁ’iﬂﬁ



tokuda
テキストボックス
資料13

tokuda
長方形


SR ERERER (1)

$=1/100
(S=1/50)
- =
TEB-6075#%
’ 7]
st a-a' BTHE FHER
9500
*T o7ty NiEEE
A | 1R
7000 2500
E & } 5 &
500 3000 3000 500
R R
7050 (7000)
/
500 5500 50 900 _—
4700 (665) //
EEAII VR
/
¢ ¢ SRRE —
SIS Sg | s
1.50% \ 1.50% \ L00% —
— — =
- ‘ ‘ 21y R
| - —
BEER{AH QLFRAY Y FEEEGEREE
% B ( mHE7ZRIL) t= bom
E-3 B ( AsREWNE ) t= 10cm
EEBBET ( RN-40 ) t= 20cm
X B 23 t=100cm
- =
THEB-31 5§
’ 7]
o b-b’" ErE SRR
11000
7ty ~iEgE
A | 1A
1500 7000 2500
5 & E & 5 &
500 3000 3000 500
IR R
7700
1350 150500 5200 500
¢ SRR
shBISR shBIER
1.50% 2.00%
i - |
‘ 1@ |:*
sos 2y REEE
U
_ @ET | ‘ kI
£ B ( BHE7ZRI>) t= bom
E-9 B ( AsREME ) t= 10cm
EEBBET ( RN-40 ) t= 20cm
X B 73 t=100cm




SEITHERERER (2)

$=1/100
(8=1/50)

miEB-1 5%

? 1)

HRIE R c—C' Wi
BEhis R
ER A | 5% i

(4929)

5 &

3000 . 1000 500 2750 2750 . 500
EEHII VR
‘ E
2.00% e
— 1t P — ] imi

iEB-56. 58. 615#F
HAER d-d’ B SIS R

9500
T 7ty iaE

EERFRM | MR

7000 2500
B O#E [ S E
500 ‘ 3000 3000 ‘ 500
T MI ~
! EEAII VR
\
_ @
1. 50% 1.50% 2.00Y
—F = " —
UF : 10
HELER i
21 v ERIE450 Ry FRIEE
50500 3800 150
2 ‘
1.50%
t =1
|| ‘ -
E3 ] FHEFAAY ) t= bem
2 U v Ml = &

AsREME ) t= 10cm
40 ) t= 20cm

(
(
(
X B K t=100cm






